PACIFIC TITAN

GLADETONE

Putting you in control.

The Kobelt 7170 Jog Lever is used for input jog control of electronic or power
hydraulic steering systems. The operator can maneuver the vessel by simply
jogging the lever to port or starboard direction. The handle safety returns to
centre position upon release.

Constructed of robust bronze and stainless steel, this device will provide a
long service life even in outdoor applications.

For those with discerning tastes, the Kobelt comes in black, polished chrome,

or a combined finish to suit your preference.

Specifications Key Benefits

Electrical Contacts: 1 Form A, Normally Open (per direction) Designed for durability and reliability
Maximum Voltage: 250 VAC / 24 VDC Easy to install and operate

Maximum Current: 10 A (per switch) Spring centred return

Handle Travel: 20° (per direction)
Operating Force: 1.51b-f[6.7 N]

Operating Temperature: -13°F...158°F [-25°C ...70°C]
Weight: 2.1 lbs [0.95 kg]

Die cast silicon bronze and stainless steel

Available in multiple finishes

8238 129th Street, Surrey, British Columbia, Canada, V3W 0A6 y /j / >// :./J

604.572.3935 = sales@kobelt.com = www.kobelt.com -/-/



General Arrangement

@3.50

—  [sss]

3.28
[83.2]

2.84

T [724]

3.38
85.8)

2.84 3.28
[72.1] [83.2]

Model Code Key

7170~ ]

I— Gland Exit Location
1 =Top
2 = Back

Finish Type

A = Black Body and Chrome Hub
B = Black Body and Black Hub
C = Chrome Body and Chrome Hub

Wiring Diagram

1L A BLACK — DIRECTION A

GREEN — COMMOMN

—L_ B WHITE — DIRECTION B

— y —-—
721
AT T T
., ye \ PN
/ \
|| :— !
NP2 -
? i 10.7|
@
S « Ln
| Y ol
=t - S [6.4
“1g [36.1]

286



Exploded Parts List

ITEM QTY. PART NUMBER

7170-0001B

7170-0002B
7170-0003

7170-0004-K
7170-0005
7170-0006
7170-0007
7170-0009
7170-0010
2030-0001
6001-0104
6001-0248

6001-0248-W-M16
6001-0311
1006-0310
1009-0810
1024-0814
6014-0001
7170-RK

W 0 N O 1 A W N R

B N R A D R N RN R R R NR R R R R R

DESCRIPTION

JOG LEVER HOUSING, BLACK
JOG LEVER COVER, BLACK

CAM

HUB, CHROME

HANDLE SHAFT

SHAFT

BRACKET, SPRING ARM

SPACER, 10G LEVER

BUSHING, SLEEVE, 7MM ID, G300 PLASTIC
KNOB, BLACK

MICROSWITCH

CABLE GLAND, M16 X 1.5, NYLON, BLACK
WASHER, M16, PE, CLEAR

PLUG, CABLE GLAND, M16 X 1.5, BLACK
SCREW, PAN HD SLOTTED, 3-48 X 5/8, 18-8
SCREW, FLAT HD PHL, 10-24 X 5/8, 18-8
SPRING PIN, 3/16 X 7/8, SS

CABLE, 3C/18AWG, SVT, 300V, 105C
REPAIR KIT (SEALS AND SPRING) FOR 7170

8238 129th Street, Surrey, British Columbia, Canada, V3W 0A6 ; /y; if ); /ﬁé ;Z/J
604.572.3935 = sales@kobelt.com = www.kobelt.com

7170_V1
02/19



